Math 262 — 13 October 2022

HYPERGEOMETRIC DISTRIBUT/ON

A set containg N items, M of which are “successes’ and the

I‘QS'\' are “.Pa‘dw-.e_&" A samﬁ\e owc n H—ems s 5e|ec‘\'ﬁd l,\)i'H\olﬂ'

re\o(ac,ame,n’f' (each subset of size n s ectuauy |3|<e,]7 to e c}\osev\).
Letr X be the number of successes in the sample.

Then K~ Hyperjeome+ric(n, M, N)
()
(+)

Mean‘ E(X) = 7\'% variance: Vor (}q:

pmf: P(X= x) =

SR

NEGATIVE RINOMIAL DISTRIBUTION
AV\ Q)(Per'lr\/\enf QOAQK"‘S O‘F A sectuen(,e o'F '|AdePenAen+ +Fm(5,
Eac)\ +rial reSuH-s N either NSuccessh or “h}(ur@,” The PY‘OLJGLHH"/

of uccess i P for each +rial. The exper3Men+ dbps when g

cerTain numbec, r, of suesses hawe occurred. Let X be the

nuwmber o€ +rials hecessary Ao achieve 1 suCcesses.

Then X ~ N63a+]\19_8]nom?a( (Y‘, f) mean E.(X) r};

PM.F: P(X’X> = (r— >)0 (l }") variance: \/ar(X>— Pz
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I r= 1/ then X~ Geometric (10) Mean: E(X) P

1-p

ks (A o ()= &




